

ON NEW REFINEMENTS AND GENERALIZATIONS OF q -HERMITE-HADAMARD INEQUALITIES FOR CONVEX FUNCTIONS

NECMETTIN ALP, HÜSEYİN BUDAK, MEHMET ZEKİ SARIKAYA, AND MUHAMMAD AAMIR ALI

ABSTRACT. The aim of this work is to prove generalized estimations for the q -Hermite-Hadamard inequality for convex functions using a parameter. By special choice of this parameter, we show that our results reduce the earlier obtained q -Hermite-Hadamard inequalities. We also present some more new refinements of these q -Hermite-Hadamard inequalities. Furthermore, we establish a new lemma and, by using this, we obtain some new quantum inequalities that generalize quantum midpoint and quantum trapezoid inequalities for convex functions.

1. INTRODUCTION

Recently, many studies have been conducted in quantum analysis. In 2018, one of these is the following q -Hermite-Hadamard inequality proved by Alp et al. [4]:

Theorem 1. *Let $\phi : [a, b] \rightarrow \mathbb{R}$ be a convex differentiable function on $[a, b]$ and $0 < q < 1$. Then, we have*

$$(1.1) \quad \phi\left(\frac{qa+b}{[2]_q}\right) \leq \frac{1}{b-a} \int_a^b \phi(x) {}_a d_q x \leq \frac{q\phi(a) + \phi(b)}{[2]_q},$$

where $[2]_q = 1 + q$.

Bermudo et al. [6] proved the following new version of q -Hermite-Hadamard inequality by using q^b -integral.

Theorem 2. *If $\phi : [a, b] \rightarrow \mathbb{R}$ is a convex differentiable function on $[a, b]$. Then, we have the following q -Hermite-Hadamard inequalities*

$$(1.2) \quad \phi\left(\frac{a+qb}{[2]_q}\right) \leq \frac{1}{b-a} \int_a^b \phi(x) {}_b d_q x \leq \frac{\phi(a) + q\phi(b)}{[2]_q}.$$

Remark 1. *It is very easy to observe that by adding (1.1) and (1.2), we have the following q -Hermite-Hadamard inequality (see, [6]):*

$$(1.3) \quad \phi\left(\frac{a+b}{2}\right) \leq \frac{1}{2(b-a)} \left[\int_a^b \phi(x) {}_a d_q x + \int_a^b \phi(x) {}_b d_q x \right] \leq \frac{\phi(a) + \phi(b)}{2}.$$

Recently, Ali et al. [2] and Sitthiwirattam et al. [16] used new techniques to prove the following two different and new versions of Hermite-Hadamard type inequalities:

Theorem 3. [2, 16] *For a convex mapping $\phi : [a, b] \rightarrow \mathbb{R}$, the following inequalities hold:*

$$\phi\left(\frac{a+b}{2}\right) \leq \frac{1}{(b-a)} \left[\int_a^{\frac{a+b}{2}} \phi(x) {}_{\frac{a+b}{2}} d_q x + \int_{\frac{a+b}{2}}^b \phi(x) {}_{\frac{a+b}{2}} d_q x \right] \leq \frac{\phi(a) + \phi(b)}{2}$$

Key words and phrases. q -derivative, q -integral inequalities, quantum calculus, convexity.
2010 Mathematics Subject Classification 26A09;26A33;26D10;26D15;33E20.

and

$$(1.4) \quad \phi\left(\frac{a+b}{2}\right) \leq \frac{1}{(b-a)} \left[\int_a^{\frac{a+b}{2}} \phi(x) {}_a d_q x + \int_{\frac{a+b}{2}}^b \phi(x) {}^b d_q x \right] \leq \frac{\phi(a) + \phi(b)}{2}.$$

On the other side, many studies have recently been carried out in the field of q -analysis, starting with Euler due to high demand for mathematics that models quantum computing q -calculus appeared as a connection between mathematics and physics. It has several applications in different mathematical areas such as number theory, combinatorics, orthogonal polynomials, basic hypergeometric functions, and other sciences, quantum theory, mechanics, and the theory of relativity [9, 10, 11, 12]. Apparently, Euler was the founder of this branch of mathematics, by using the parameter q in Newton's work on infinite series. Later, Jackson was the first to develop q -calculus that knows without limit calculus in a systematic way [9]. In 1908-1909, Jackson defined the general q -integral and q -difference operator [11]. In 1969, Agarwal described the q -fractional derivative for the first time [1]. In 1966-1967 Al-Salam introduced a q -analogue of the Riemann-Liouville fractional integral operator and q -fractional integral operator [3]. In 2004, Rajkovic [15] gave a definition of the Riemann-type q -integral which generalized the Jackson q -integral. In 2013, Tariboon introduced ${}_a D_q$ -difference operator [4]. In [13, 14], Noor et al. presented some trapezoid type inequalities for quantum integrals. Recently, in 2020, Bermudo et al. introduced the notion of ${}^b D_q$ derivative and integral [6].

Recently, Alp et al. [4, 5] obtained Wirtinger type q -integral inequalities and quantum estimations for q -midpoint type inequalities. For more recent results on q -integral inequalities, one can read [7, 8].

Inspired by the quantum analysis we mentioned above, in this paper we prove generalized and improved q -Hermite-Hadamard inequalities for convex functions using the quantum integrals. Also, we achieve combined q -midpoint and q -trapezoidal inequalities into a single inequality. Special cases of our results obtained yield all previous works.

2. PRELIMINARIES OF q -CALCULUS

In this section, we present some required definitions about q -calculus. Throughout the paper, we consider that $0 < q < 1$ and use the following notation (see, [12]):

$$[n]_q = \frac{q^n - 1}{q - 1}.$$

Definition 1. [17] *The left or q_a -derivative of $\phi : [a, b] \rightarrow \mathbb{R}$ at $x \in [a, b]$ is expressed as:*

$$(2.1) \quad {}_a D_q \phi(x) = \frac{\phi(x) - \phi(qx + (1-q)a)}{(1-q)(x-a)}, \quad x \neq a.$$

Definition 2. [15] *The left or q_a -integral of $f : [a, b] \rightarrow \mathbb{R}$ at $x \in [a, b]$ is defined as:*

$$(2.2) \quad \int_a^x \phi(t) {}_a d_q t = (1-q)(x-a) \sum_{n=0}^{\infty} q^n \phi(q^n x + (1-q^n)a) = (x-a) \int_0^1 \phi((1-t)a + tx) d_q t.$$

Definition 3. [6] *The right or q^b -derivative of $\phi : [a, b] \rightarrow \mathbb{R}$ at $x \in [a, b]$ is expressed as:*

$${}^b D_q \phi(x) = \frac{\phi(qx + (1-q)b) - \phi(x)}{(1-q)(b-x)}, \quad x \neq b.$$

Definition 4. [6] *The right or q^b -integral of $\phi : [a, b] \rightarrow \mathbb{R}$ at $x \in [a, b]$ is defined as:*

$$\int_x^b \phi(t) {}^b d_q t = (1-q)(b-x) \sum_{n=0}^{\infty} q^n \phi(q^n x + (1-q^n)b) = (b-x) \int_0^1 \phi(tb + (1-t)x) {}^1 d_q t.$$

Lemma 1. *We have the equality for q_a -integrals*

$$\int_a^b (x-a)^\alpha {}_a d_q x = \frac{(b-a)^{\alpha+1}}{[\alpha+1]_q}$$

for $\alpha \in \mathbb{R} \setminus \{-1\}$.

3. GENERALIZATIONS OF q -HERMITE-HADAMARD INEQUALITIES

In this section, we prove the following generalized versions of q -Hermite-Hermite inequalities.

Theorem 4. Let $\phi : [a, b] \rightarrow \mathbb{R}$ be a convex function on $[a, b]$ with $a < b$, then the following inequalities hold:

$$(3.1) \quad \phi\left(\frac{a+b}{2}\right) \leq \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b+(1-\lambda)a} \phi(t) {}_a d_q t + \int_{\lambda a+(1-\lambda)b}^b \phi(t) {}_b d_q t \right) \leq \frac{\phi(a) + \phi(b)}{2}.$$

Proof. Since ϕ is a convex function, we have

$$\phi\left(\frac{x+y}{2}\right) \leq \frac{\phi(x) + \phi(y)}{2}.$$

Let's consider $x = (1 - \lambda t)a + \lambda tb$ and $y = t\lambda a + (1 - \lambda t)b$ for $t \in [0, 1]$ and $\lambda \in (0, 1]$ Then, we obtain

$$(3.2) \quad \phi\left(\frac{a+b}{2}\right) \leq \frac{\phi((1-\lambda t)a + \lambda tb) + \phi(t\lambda a + (1-\lambda t)b)}{2}.$$

By q -integrating the inequality (3.2) with respect to t over $[0, 1]$, we obtain

$$(3.3) \quad \phi\left(\frac{a+b}{2}\right) \leq \int_0^1 \frac{\phi((1-\lambda t)a + \lambda tb) + \phi(t\lambda a + (1-\lambda t)b)}{2} d_q t.$$

By Definition 2 and Definition 4, we have the following equalities

$$(3.4) \quad \begin{aligned} & \int_0^1 \frac{\phi((1-\lambda t)a + \lambda tb) + \phi(t\lambda a + (1-\lambda t)b)}{2} d_q t \\ &= (1-q) \sum_{n=0}^{\infty} q^n \frac{\phi((1-\lambda q^n)a + \lambda q^n b) + \phi(q^n \lambda a + (1-\lambda q^n)b)}{2} \\ &= \frac{(1-q)}{2} \sum_{n=0}^{\infty} q^n \phi([\lambda b + (1-\lambda)a] q^n + (1-q^n)a) \\ &\quad + \frac{(1-q)}{2} \sum_{n=0}^{\infty} q^n \phi([\lambda a + (1-\lambda)b] q^n + (1-q^n)b) \\ &= \frac{1}{2\lambda(b-a)} \lambda(b-a)(1-q) \sum_{n=0}^{\infty} q^n \phi([\lambda b + (1-\lambda)a] q^n + (1-q^n)a) \\ &\quad + \frac{1}{2\lambda(b-a)} \lambda(b-a)(1-q) \sum_{n=0}^{\infty} q^n \phi([\lambda a + (1-\lambda)b] q^n + (1-q^n)b) \\ &= \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b+(1-\lambda)a} \phi(t) {}_a d_q t + \int_{\lambda a+(1-\lambda)b}^b \phi(t) {}_b d_q t \right). \end{aligned}$$

This gives the first inequality of (3.1). On the other hand, by convexity of ϕ , we can write

$$(3.5) \quad \begin{aligned} & \frac{\phi(\lambda t a + (1-\lambda t)b) + \phi((1-\lambda t)a + \lambda t b)}{2} \\ & \leq \frac{\lambda t \phi(a) + (1-\lambda t)\phi(b) + (1-\lambda t)\phi(a) + \lambda t \phi(b)}{2} \\ & = \frac{\phi(a) + \phi(b)}{2}. \end{aligned}$$

By q -integrating (3.5) with respect to t over $[0, 1]$, we obtain

$$(3.6) \quad \begin{aligned} & \int_0^1 \frac{\phi((1-\lambda t)a + \lambda t b) + \phi(\lambda t a + (1-\lambda t)b)}{2} d_q t \\ & \leq \frac{\phi(a) + \phi(b)}{2} \int_0^1 d_q t = \frac{\phi(a) + \phi(b)}{2}. \end{aligned}$$

From (3.4) and (3.6), we obtain the second inequality of (3.1). This completes the proof. \square

Remark 2. If we choose $\lambda = \frac{1}{2}$ in Theorem 4, then the inequalities (3.1) reduce to the inequalities (1.4).

Corollary 1. If we take $\lambda = 1$ in Theorem 4, then the inequalities (3.1) reduce to the inequalities (1.3).

Corollary 2. If we assign $\lambda = \frac{1}{[2]_q}$ in Theorem 4, then we have the following new quantum Hermite-Hadamard inequalities

$$\phi\left(\frac{a+b}{2}\right) \leq \frac{[2]_q}{2(b-a)} \left(\int_a^{\frac{qa+b}{[2]_q}} \phi(t) {}_a d_q t + \int_{\frac{a+qb}{[2]_q}}^b \phi(t) {}_b d_q t \right) \leq \frac{\phi(a) + \phi(b)}{2}.$$

Theorem 5. Let $\phi : [a, b] \rightarrow \mathbb{R}$ be a convex function on $[a, b]$ with $a < b$, then we have the following inequalities:

$$\begin{aligned} (3.7) \quad & \phi\left(\frac{a+b}{2}\right) \\ & \leq \frac{1}{2} \left[\phi\left(\frac{a+qb}{[2]_q}\right) + \phi\left(\frac{qa+b}{[2]_q}\right) \right] \\ & \leq \frac{1+q^2}{2q\lambda [2]_q (b-a)} \left(\int_a^{\lambda b+(1-\lambda)a} \phi(t) {}_a d_q t + \int_{\lambda a+(1-\lambda)b}^b \phi(t) {}_b d_q t \right) \\ & \quad - \frac{(1-q)}{2q [2]_q} [\phi(\lambda a + (1-\lambda)b) + \phi((1-\lambda)a + \lambda b)] \\ & \leq \frac{\phi(a) + \phi(b)}{2}. \end{aligned}$$

Proof. By convexity of ϕ , we have

$$\begin{aligned} \phi\left(\frac{a+qb}{[2]_q}\right) &= \phi\left(\frac{((1-q\lambda t)a + q\lambda tb) + q(t\lambda a + (1-\lambda t)b)}{[2]_q}\right) \\ &\leq \frac{\phi((1-q\lambda t)a + q\lambda tb) + q\phi(t\lambda a + (1-\lambda t)b)}{[2]_q} \\ &\leq \frac{\phi(a) + q\phi(b)}{[2]_q}, \end{aligned}$$

which implies

$$\begin{aligned} (3.8) \quad & \phi\left(\frac{a+qb}{[2]_q}\right) \\ & \leq \frac{\phi((1-q\lambda t)a + q\lambda tb) + q\phi(t\lambda a + (1-\lambda t)b)}{[2]_q} \\ & \leq \frac{\phi(a) + q\phi(b)}{[2]_q}. \end{aligned}$$

Then q -integrating (3.8) with respect to t over $[0, 1]$, we obtain

$$(3.9) \quad \phi\left(\frac{a+qb}{[2]_q}\right) \leq \int_0^1 \frac{\phi((1-q\lambda t)a + q\lambda tb) + q\phi(t\lambda a + (1-\lambda t)b)}{[2]_q} d_q t \leq \frac{\phi(a) + q\phi(b)}{[2]_q}.$$

The mid term of (3.9) can be calculated as follows:

$$(3.10) \quad \int_0^1 \frac{\phi((1-q\lambda t)a + q\lambda tb) + q\phi(t\lambda a + (1-\lambda t)b)}{[2]_q} d_q t$$

$$\begin{aligned}
 &= (1-q) \sum_{n=0}^{\infty} q^n \frac{\phi((1-\lambda q^{n+1})a + \lambda q^{n+1}b) + q\phi(q^n \lambda a + (1-\lambda q^n)b)}{[2]_q} \\
 &= \frac{(1-q)}{[2]_q} \sum_{n=0}^{\infty} q^n \phi((1-\lambda q^{n+1})a + \lambda q^{n+1}b) + \frac{q(1-q)}{[2]_q} \sum_{n=0}^{\infty} q^n \phi(q^n \lambda a + (1-\lambda q^n)b) \\
 &= \frac{(1-q)}{q[2]_q} \sum_{n=1}^{\infty} q^n \phi((1-\lambda q^n)a + \lambda q^n b) + \frac{q(1-q)}{[2]_q} \sum_{n=0}^{\infty} q^n \phi(q^n \lambda a + (1-\lambda q^n)b) \\
 &= \frac{(1-q)}{q[2]_q} \sum_{n=0}^{\infty} q^n \phi((1-\lambda q^n)a + \lambda q^n b) + \frac{q(1-q)}{[2]_q} \sum_{n=0}^{\infty} q^n \phi(q^n \lambda a + (1-\lambda q^n)b) \\
 &\quad - \frac{(1-q)}{q[2]_q} \phi((1-\lambda)a + \lambda b) \\
 &= \frac{1}{\lambda q [2]_q (b-a)} \lambda (b-a) (1-q) \sum_{n=0}^{\infty} q^n \phi([\lambda b + (1-\lambda)a] q^n + (1-q^n) a) \\
 &\quad + \frac{q}{\lambda [2]_q (b-a)} \lambda (b-a) (1-q) \sum_{n=0}^{\infty} q^n \phi([\lambda a + (1-\lambda)b] q^n + (1-q^n) b) \\
 &\quad - \frac{(1-q)}{q[2]_q} \phi((1-\lambda)a + \lambda b) \\
 &= \frac{1}{\lambda [2]_q (b-a)} \left(\frac{1}{q} \int_a^{\lambda b + (1-\lambda)a} \phi(t) {}_a d_q t + q \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t \right) \\
 &\quad - \frac{(1-q)}{q[2]_q} \phi((1-\lambda)a + \lambda b).
 \end{aligned}$$

So we can write

$$\begin{aligned}
 (3.11) \quad &\phi\left(\frac{a+qb}{[2]_q}\right) \\
 &\leq \frac{1}{\lambda [2]_q (b-a)} \left(\frac{1}{q} \int_a^{\lambda b + (1-\lambda)a} \phi(t) {}_a d_q t + q \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t \right) \\
 &\quad - \frac{(1-q)}{q[2]_q} \phi((1-\lambda)a + \lambda b) \\
 &\leq \frac{\phi(a) + q\phi(b)}{[2]_q}.
 \end{aligned}$$

On the other hand, by using similar method, we can write

$$\begin{aligned}
 (3.12) \quad &\phi\left(\frac{qa+b}{[2]_q}\right) \\
 &\leq \frac{q\phi((1-\lambda t)a + \lambda tb) + \phi(qt\lambda a + (1-qt\lambda)b)}{[2]_q} \\
 &\leq \frac{q\phi(a) + \phi(b)}{[2]_q}.
 \end{aligned}$$

By q -integrating (3.12) and calculating the mid term similar to (3.10), we obtain

$$\begin{aligned}
 (3.13) \quad &\phi\left(\frac{qa+b}{[2]_q}\right) \\
 &\leq \frac{1}{\lambda [2]_q (b-a)} \left(q \int_a^{\lambda b + (1-\lambda)a} \phi(t) {}_a d_q t + \frac{1}{q} \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t \right)
 \end{aligned}$$

$$\begin{aligned} & -\frac{(1-q)}{q[2]_q} \phi(\lambda a + (1-\lambda)b) \\ \leq & \frac{q\phi(a) + \phi(b)}{[2]_q}. \end{aligned}$$

By adding (3.11) and (3.13), we obtain

$$\begin{aligned} & \phi\left(\frac{a+qb}{[2]_q}\right) + \phi\left(\frac{qa+b}{[2]_q}\right) \\ \leq & \frac{1+q^2}{q\lambda[2]_q(b-a)} \left(\int_a^{\lambda b+(1-\lambda)a} \phi(t) {}_a d_q t + \int_{\lambda a+(1-\lambda)b}^b \phi(t) {}^b d_q t \right) \\ & -\frac{(1-q)}{q[2]_q} [\phi(\lambda a + (1-\lambda)b) + \phi((1-\lambda)a + \lambda b)] \\ \leq & \phi(a) + \phi(b). \end{aligned}$$

which gives the second and third inequalities of (3.7). By convexity of ϕ , we can write

$$\phi\left(\frac{a+b}{2}\right) = \phi\left(\frac{a+qb}{2[2]_q} + \frac{qa+b}{2[2]_q}\right) \leq \frac{1}{2} \left[\phi\left(\frac{a+qb}{[2]_q}\right) + \phi\left(\frac{qa+b}{[2]_q}\right) \right].$$

This proves the first inequality of (3.7). Thus the proof is completed. \square

The following Corollary gives the refinements of the inequality (1.4).

Corollary 3. *If we choose $\lambda = \frac{1}{2}$ in Theorem 5, then we have the following refinement of Hermite-Hadamard inequality*

$$\begin{aligned} (3.14) \quad & \phi\left(\frac{a+b}{2}\right) \\ & \leq \Psi_1(q) \\ & \leq \frac{1}{b-a} \left(\int_a^{\frac{a+b}{2}} \phi(t) {}_a d_q t + \int_{\frac{a+b}{2}}^b \phi(t) {}^b d_q t \right) \\ & \leq \Psi_2(q) \\ & \leq \frac{\phi(a) + \phi(b)}{2}, \end{aligned}$$

where

$$\Psi_1(q) = \frac{q[2]_q}{2(1+q^2)} \left[\phi\left(\frac{a+qb}{[2]_q}\right) + \phi\left(\frac{qa+b}{[2]_q}\right) \right] + \frac{(1-q)}{1+q^2} \phi\left(\frac{a+b}{2}\right)$$

and

$$\Psi_2(q) = \frac{q[2]_q}{1+q^2} \frac{\phi(a) + \phi(b)}{2} + \frac{(1-q)}{1+q^2} \phi\left(\frac{a+b}{2}\right).$$

Proof. By $\lambda = \frac{1}{2}$ in (3.7), we have

$$\begin{aligned} & \phi\left(\frac{a+b}{2}\right) \\ \leq & \frac{1}{2} \left[\phi\left(\frac{a+qb}{[2]_q}\right) + \phi\left(\frac{qa+b}{[2]_q}\right) \right] \\ \leq & \frac{1+q^2}{q[2]_q(b-a)} \left(\int_a^{\frac{a+b}{2}} \phi(t) {}_a d_q t + \int_{\frac{a+b}{2}}^b \phi(t) {}^b d_q t \right) \\ & -\frac{(1-q)}{q[2]_q} \phi\left(\frac{a+b}{2}\right) \end{aligned}$$

$$\leq \frac{\phi(a) + \phi(b)}{2}$$

which gives

$$\begin{aligned}
 (3.15) \quad & \frac{1+q^2}{q[2]_q} \phi\left(\frac{a+b}{2}\right) \\
 & \leq \frac{1}{2} \left[\phi\left(\frac{a+qb}{[2]_q}\right) + \phi\left(\frac{qa+b}{[2]_q}\right) \right] + \frac{(1-q)}{q[2]_q} \phi\left(\frac{a+b}{2}\right) \\
 & \leq \frac{1+q^2}{q[2]_q(b-a)} \left(\int_a^{\frac{a+b}{2}} \phi(t) {}_a d_q t + \int_{\frac{a+b}{2}}^b \phi(t) {}_b d_q t \right) \\
 & \leq \frac{\phi(a) + \phi(b)}{2} + \frac{(1-q)}{q[2]_q} \phi\left(\frac{a+b}{2}\right) \\
 & \leq \frac{1+q^2}{q[2]_q} \frac{\phi(a) + \phi(b)}{2}.
 \end{aligned}$$

If we multiply the inequality (3.7) by $\frac{q[2]_q}{1+q^2}$, then we obtain the desired result. \square

The following Corollary gives the refinements of the inequality (1.3).

Corollary 4. *If we assign $\lambda = 1$ in Theorem 5, then we have the following refinement of Hermite-Hadamard inequality*

$$\begin{aligned}
 & \phi\left(\frac{a+b}{2}\right) \\
 & \leq \Psi_3(q) \\
 & \leq \frac{1}{2(b-a)} \left(\int_a^b \phi(t) {}_a d_q t + \int_a^b \phi(t) {}_b d_q t \right) \\
 & \leq \frac{\phi(a) + \phi(b)}{2},
 \end{aligned}$$

where

$$\Psi_3(q) = \frac{q[2]_q}{2(1+q^2)} \left[\phi\left(\frac{a+qb}{[2]_q}\right) + \phi\left(\frac{qa+b}{[2]_q}\right) \right] + \frac{(1-q)}{1+q^2} [\phi(a) + \phi(b)].$$

Proof. If we take $\lambda = 1$ in Theorem 5, then we have

$$\begin{aligned}
 & \phi\left(\frac{a+b}{2}\right) \\
 & \leq \frac{1}{2} \left[\phi\left(\frac{a+qb}{[2]_q}\right) + \phi\left(\frac{qa+b}{[2]_q}\right) \right] \\
 & \leq \frac{1+q^2}{2q[2]_q(b-a)} \left(\int_a^b \phi(t) {}_a d_q t + \int_a^b \phi(t) {}_b d_q t \right) \\
 & \quad - \frac{(1-q)}{2q[2]_q} [\phi(a) + \phi(b)] \\
 & \leq \frac{\phi(a) + \phi(b)}{2}.
 \end{aligned}$$

This gives, by $\phi\left(\frac{a+b}{2}\right) \leq \frac{\phi(a)+\phi(b)}{2}$,

$$\begin{aligned}
 (3.16) \quad & \frac{1+q^2}{q[2]_q} \phi\left(\frac{a+b}{2}\right) \\
 & \leq \phi\left(\frac{a+b}{2}\right) + \frac{(1-q)}{2q[2]_q} [\phi(a) + \phi(b)]
 \end{aligned}$$

$$\begin{aligned}
&\leq \frac{1}{2} \left[\phi \left(\frac{a+qb}{[2]_q} \right) + \phi \left(\frac{qa+b}{[2]_q} \right) \right] + \frac{(1-q)}{2q[2]_q} [\phi(a) + \phi(b)] \\
&\leq \frac{1+q^2}{2q[2]_q(b-a)} \left(\int_a^b \phi(t) {}_a d_q t + \int_a^b \phi(t) {}^b d_q t \right) \\
&\leq \frac{1+q^2}{2q[2]_q} [\phi(a) + \phi(b)].
\end{aligned}$$

If we multiply the inequality (3.16) by $\frac{q[2]_q}{1+q^2}$, then we obtain the required result. \square

4. PARAMETERIZED QUANTUM INTEGRAL INEQUALITIES

Lemma 2. *Let $\phi : [a, b] \rightarrow \mathbb{R}$ be a q -differentiable function. If ${}_a D_q \phi$ and ${}^b D_q \phi$ are continuous and q -integrable over $[a, b]$, then the following new equality holds:*

$$\begin{aligned}
&\frac{\lambda(b-a)}{2} \int_0^1 qt [{}^b D_q \phi((1-\lambda)t b + \lambda t a) - {}_a D_q \phi((1-\lambda)t a + \lambda t b)] d_q t \\
&= \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b + (1-\lambda)a} \phi(t) {}_a d_q t + \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t \right) \\
&\quad - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2}.
\end{aligned}$$

Proof. Assume that

$$\begin{aligned}
(4.1) \quad &\frac{\lambda(b-a)}{2} \left(\int_0^1 qt {}^b D_q \phi((1-\lambda)t b + \lambda t a) d_q t - \int_0^1 qt {}_a D_q \phi((1-\lambda)t a + \lambda t b) d_q t \right) \\
&= \frac{\lambda(b-a)}{2} (I_1 - I_2).
\end{aligned}$$

By Definition 3, we have

$$\begin{aligned}
(4.2) \quad I_1 &= \int_0^1 qt {}^b D_q \phi((1-\lambda)t b + \lambda t a) d_q t \\
&= \int_0^1 qt \frac{\phi((1-\lambda)t b + \lambda t a) - \phi(q\lambda t a + (1-q\lambda t)b)}{(1-q)(a-b)\lambda t} d_q t \\
&= \frac{q}{(a-b)\lambda} \sum_{n=0}^{\infty} q^n \phi(\lambda q^n a + (1-\lambda q^n)b) - \frac{q}{(a-b)\lambda} \sum_{n=0}^{\infty} q^n \phi(\lambda q^{n+1} a + (1-\lambda q^{n+1})b) \\
&= \frac{q}{(a-b)\lambda} \sum_{n=0}^{\infty} q^n \phi(\lambda q^n a + (1-\lambda q^n)b) - \frac{1}{(a-b)\lambda} \sum_{n=1}^{\infty} q^n \phi(\lambda q^n a + (1-\lambda q^n)b) \\
&= \frac{1-q}{(b-a)\lambda} \sum_{n=0}^{\infty} q^n \phi(\lambda q^n a + (1-\lambda q^n)b) - \frac{1}{(b-a)\lambda} \phi(\lambda a + (1-\lambda)b) \\
&= \frac{1}{(b-a)^2 \lambda^2} \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t - \frac{1}{(b-a)\lambda} \phi(\lambda a + (1-\lambda)b).
\end{aligned}$$

Similarly by Definition 1, we get

$$\begin{aligned}
I_2 &= \int_0^1 qt {}_a D_q \phi((1-\lambda)t a + \lambda t b) d_q t \\
&= \int_0^1 qt \frac{\phi((1-\lambda)t a + \lambda t b) - \phi(q\lambda t b + (1-q\lambda t)a)}{(1-q)(b-a)\lambda t} d_q t \\
&= \frac{q}{(b-a)\lambda} \sum_{n=0}^{\infty} q^n \phi(\lambda q^n b + (1-\lambda q^n)a) - \frac{q}{(b-a)\lambda} \sum_{n=0}^{\infty} q^n \phi(\lambda q^{n+1} b + (1-\lambda q^{n+1})a)
\end{aligned}$$

$$\begin{aligned}
 &= \frac{q}{(b-a)\lambda} \sum_{n=0}^{\infty} q^n \phi(\lambda q^n b + (1-\lambda q^n)a) \\
 &\quad - \frac{1}{(b-a)\lambda} \sum_{n=0}^{\infty} q^n \phi(\lambda q^n b + (1-\lambda q^n)a) + \frac{1}{(b-a)\lambda} \phi(\lambda b + (1-\lambda)a) \\
 &= \frac{1}{(b-a)\lambda} \phi(\lambda b + (1-\lambda)a) - \frac{1-q}{(b-a)\lambda} \sum_{n=0}^{\infty} q^n \phi(\lambda q^n b + (1-\lambda q^n)a) \\
 &= \frac{1}{(b-a)\lambda} \phi(\lambda b + (1-\lambda)a) - \frac{1}{(b-a)^2 \lambda^2} \int_a^{\lambda b + (1-\lambda)a} \phi(t) \, {}_a d_q t .
 \end{aligned}$$

Then it follows that

$$\begin{aligned}
 &\frac{\lambda(b-a)}{2} (I_1 - I_2) \\
 &= \frac{1}{2(b-a)\lambda} \int_{\lambda a + (1-\lambda)b}^b \phi(t) \, {}^b d_q t - \frac{1}{2} \phi(\lambda a + (1-\lambda)b) \\
 &\quad - \frac{1}{2} \phi(\lambda b + (1-\lambda)a) + \frac{1}{2(b-a)\lambda} \int_a^{\lambda b + (1-\lambda)a} \phi(t) \, {}_a d_q t \\
 &= \frac{1}{2\lambda(b-a)} \left(\int_{\lambda a + (1-\lambda)b}^b \phi(t) \, {}^b d_q t + \int_a^{\lambda b + (1-\lambda)a} \phi(t) \, {}_a d_q t \right) \\
 &\quad - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2} .
 \end{aligned}$$

Which completes the proof. □

Theorem 6. *We assume that the conditions of Lemma 2 hold. If the $| {}_a D_q \phi |$ and $| {}^b D_q \phi |$ are convex $[a, b]$, then the following inequality holds:*

$$\begin{aligned}
 &\left| \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b + (1-\lambda)a} \phi(t) \, {}_a d_q t + \int_{\lambda a + (1-\lambda)b}^b \phi(t) \, {}^b d_q t \right) \right. \\
 &\quad \left. - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2} \right| \\
 &\leq \frac{\lambda q(b-a)}{2 [2]_q [3]_q} \left[([3]_q - \lambda [2]_q) \left[| {}^b D_q \phi(b) | + | {}_a D_q \phi(a) | \right] \right. \\
 &\quad \left. + \lambda [2]_q \left[| {}^b D_q \phi(a) | + | {}_a D_q \phi(b) | \right] \right] .
 \end{aligned}$$

Proof. With the help of Lemma 2, we get

$$\begin{aligned}
 (4.3) \quad &\left| \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b + (1-\lambda)a} \phi(t) \, {}_a d_q t + \int_{\lambda a + (1-\lambda)b}^b \phi(t) \, {}^b d_q t \right) \right. \\
 &\quad \left. - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2} \right| \\
 &\leq \frac{\lambda(b-a)}{2} \int_0^1 qt \left| {}^b D_q \phi((1-\lambda t)b + \lambda t a) \right| d_q t + \frac{\lambda(b-a)}{2} \int_0^1 qt \left| {}_a D_q \phi((1-\lambda t)a + \lambda t b) \right| d_q t .
 \end{aligned}$$

By using the convexity of $| {}_a D_q \phi |$ and $| {}^b D_q \phi |$, we have

$$\left| \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b + (1-\lambda)a} \phi(t) \, {}_a d_q t + \int_{\lambda a + (1-\lambda)b}^b \phi(t) \, {}^b d_q t \right) - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2} \right|$$

$$\begin{aligned}
&\leq \frac{\lambda(b-a)}{2} \int_0^1 qt \left((1-\lambda t) \left| {}^b D_q \phi(b) \right| + \lambda t \left| {}^b D_q \phi(a) \right| \right) d_q t \\
&\quad + \frac{\lambda(b-a)}{2} \int_0^1 qt \left((1-\lambda t) \left| {}^a D_q \phi(a) \right| + \lambda t \left| {}^a D_q \phi(b) \right| \right) d_q t \\
&= \frac{\lambda(b-a)}{2} \left[\left(\left| {}^b D_q \phi(b) \right| + \left| {}^a D_q \phi(a) \right| \right) \int_0^1 (qt - q\lambda t^2) d_q t \right. \\
&\quad \left. + \left(\left| {}^b D_q \phi(a) \right| + \left| {}^a D_q \phi(b) \right| \right) \int_0^1 q\lambda t^2 d_q t \right] \\
&= \frac{\lambda q(b-a)}{2} \left[\left(\frac{1}{[2]_q} - \frac{\lambda}{[3]_q} \right) \left(\left| {}^b D_q \phi(b) \right| + \left| {}^a D_q \phi(a) \right| \right) \right. \\
&\quad \left. + \frac{\lambda}{[3]_q} \left(\left| {}^b D_q \phi(a) \right| + \left| {}^a D_q \phi(b) \right| \right) \right] \\
&= \frac{\lambda q(b-a)}{2 [2]_q [3]_q} \left[\left([3]_q - \lambda [2]_q \right) \left(\left| {}^b D_q \phi(b) \right| + \left| {}^a D_q \phi(a) \right| \right) \right. \\
&\quad \left. + \lambda [2]_q \left(\left| {}^b D_q \phi(a) \right| + \left| {}^a D_q \phi(b) \right| \right) \right].
\end{aligned}$$

Thus, the proof is completed. \square

Remark 3. If we assign $\lambda = 1$ in Theorem 6, then we have the following trapezoid type inequality

$$\begin{aligned}
&\left| \frac{1}{2(b-a)} \left(\int_a^b \phi(t) {}^a d_q t + \int_a^b \phi(t) {}^b d_q t \right) - \frac{\phi(a) + \phi(b)}{2} \right| \\
&\leq \frac{q(b-a)}{2 [2]_q [3]_q} \left[q^2 \left(\left| {}^b D_q \phi(b) \right| + \left| {}^a D_q \phi(a) \right| \right) \right. \\
&\quad \left. + [2]_q \left(\left| {}^b D_q \phi(a) \right| + \left| {}^a D_q \phi(b) \right| \right) \right].
\end{aligned}$$

Remark 4. If we assign $\lambda = \frac{1}{2}$ in Theorem 6, then we have the following Midpoint type inequality

$$\begin{aligned}
&\left| \frac{1}{b-a} \left(\int_a^{\frac{a+b}{2}} \phi(t) {}^a d_q t + \int_{\frac{a+b}{2}}^b \phi(t) {}^b d_q t \right) - \phi\left(\frac{a+b}{2}\right) \right| \\
&\leq \frac{q(b-a)}{8 [2]_q [3]_q} \left[\left([3]_q + q^2 \right) \left(\left| {}^b D_q \phi(b) \right| + \left| {}^a D_q \phi(a) \right| \right) \right. \\
&\quad \left. + [2]_q \left(\left| {}^b D_q \phi(a) \right| + \left| {}^a D_q \phi(b) \right| \right) \right]
\end{aligned}$$

which is proved by Ali et al. in [2].

Corollary 5. In Theorem 6, assume $\lambda = \frac{1}{[2]_q}$, then, we reach as follows

$$\begin{aligned}
&\left| \frac{[2]_q}{(b-a)} \left(\int_a^{\frac{qa+qb}{[2]_q}} \phi(t) {}^a d_q t + \int_{\frac{qa+qb}{[2]_q}}^b \phi(t) {}^b d_q t \right) - \left(\phi\left(\frac{qa+qb}{[2]_q}\right) + \phi\left(\frac{a+qb}{[2]_q}\right) \right) \right| \\
&\leq \frac{q(b-a)}{[2]_q^2 [3]_q} \left\{ q [2]_q \left(\left| {}^b D_q \phi(b) \right| + \left| {}^a D_q \phi(a) \right| \right) + \left(\left| {}^b D_q \phi(a) \right| + \left| {}^a D_q \phi(b) \right| \right) \right\}.
\end{aligned}$$

Theorem 7. We assume that the conditions Lemma 2 hold. If the functions $|{}_a D_q \phi|^s$ and $|{}^b D_q \phi|^s$, $s > 1$ are convex, then the following inequality holds:

$$\begin{aligned}
&\left| \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b + (1-\lambda)a} \phi(t) {}^a d_q t + \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t \right) \right. \\
&\quad \left. - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2} \right|
\end{aligned}$$

$$\begin{aligned} &\leq \frac{\lambda q(b-a)}{2} \left(\frac{1}{[r+1]_q} \right)^{\frac{1}{r}} \left[\left(\frac{[2]_q - \lambda}{[2]_q} \left| {}^b D_q \phi(b) \right|^s + \frac{\lambda}{[2]_q} \left| {}^b D_q \phi(a) \right|^s \right)^{\frac{1}{s}} \right. \\ &\quad \left. + \left(\frac{[2]_q - \lambda}{[2]_q} \left| {}^a D_q \phi(a) \right|^s + \frac{\lambda}{[2]_q} \left| {}^a D_q \phi(a) \right|^s \right)^{\frac{1}{s}} \right], \end{aligned}$$

where $s^{-1} + r^{-1} = 1$.

Proof. By applying Hölder's inequality in (4.3), we have

$$\begin{aligned} &\left| \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b + (1-\lambda)a} \phi(t) {}^a d_q t + \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t \right) \right. \\ &\quad \left. - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2} \right| \\ &\leq \frac{\lambda(b-a)}{2} \left[\left(\int_0^1 (qt)^r d_q t \right)^{\frac{1}{r}} \left(\int_0^1 \left| {}^b D_q \phi((1-\lambda)t b + \lambda t a) \right|^s d_q t \right)^{\frac{1}{s}} \right. \\ &\quad \left. + \left(\int_0^1 (qt)^r d_q t \right)^{\frac{1}{r}} \left(\int_0^1 \left| {}^a D_q \phi((1-\lambda)t a + \lambda t b) \right|^s d_q t \right)^{\frac{1}{s}} \right]. \end{aligned}$$

Since the functions $|{}^a D_q \phi|^s$ and $|{}^b D_q \phi|^s$ are convex, we have

$$\begin{aligned} &\left| \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b + (1-\lambda)a} \phi(t) {}^a d_q t + \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t \right) \right. \\ &\quad \left. - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2} \right| \\ &\leq \frac{\lambda(b-a)}{2} \left(\int_0^1 (qt)^r d_q t \right)^{\frac{1}{r}} \\ &\quad \times \left[\left(\int_0^1 [(1-\lambda)t] \left[\left| {}^b D_q \phi(b) \right|^s + \lambda t \left| {}^b D_q \phi(a) \right|^s \right] d_q t \right)^{\frac{1}{s}} \right. \\ &\quad \left. + \left(\int_0^1 [(1-\lambda)t] \left[\left| {}^a D_q \phi(a) \right|^s + \lambda t \left| {}^a D_q \phi(a) \right|^s \right] d_q t \right)^{\frac{1}{s}} \right] \\ &= \frac{\lambda q(b-a)}{2} \left(\frac{1}{[r+1]_q} \right)^{\frac{1}{r}} \left[\left(\frac{[2]_q - \lambda}{[2]_q} \left| {}^b D_q \phi(b) \right|^s + \frac{\lambda}{[2]_q} \left| {}^b D_q \phi(a) \right|^s \right)^{\frac{1}{s}} \right. \\ &\quad \left. + \left(\frac{[2]_q - \lambda}{[2]_q} \left| {}^a D_q \phi(a) \right|^s + \frac{\lambda}{[2]_q} \left| {}^a D_q \phi(a) \right|^s \right)^{\frac{1}{s}} \right]. \end{aligned}$$

Hence, the proof is completed. □

Remark 5. If we assign $\lambda = 1$ in Theorem 7, then we have the following trapezoid type inequality

$$\begin{aligned} &\left| \frac{1}{2(b-a)} \left(\int_a^b \phi(t) {}^a d_q t + \int_a^b \phi(t) {}^b d_q t \right) - \frac{\phi(a) + \phi(b)}{2} \right| \\ &\leq \frac{q(b-a)}{2} \left(\frac{1}{[r+1]_q} \right)^{\frac{1}{r}} \left[\left(\frac{q \left| {}^b D_q \phi(b) \right|^s + \left| {}^b D_q \phi(a) \right|^s}{[2]_q} \right)^{\frac{1}{s}} \right. \\ &\quad \left. + \left(\frac{q \left| {}^a D_q \phi(a) \right|^s + \left| {}^a D_q \phi(a) \right|^s}{[2]_q} \right)^{\frac{1}{s}} \right]. \end{aligned}$$

Remark 6. If we assign $\lambda = \frac{1}{2}$ in Theorem 7, then we have the following Midpoint type inequality

$$\begin{aligned} & \left| \frac{1}{b-a} \left(\int_a^{\frac{a+b}{2}} \phi(t) {}_a d_q t + \int_{\frac{a+b}{2}}^b \phi(t) {}^b d_q t \right) - \phi\left(\frac{a+b}{2}\right) \right| \\ & \leq \frac{q(b-a)}{4} \left(\frac{1}{[r+1]_q} \right)^{\frac{1}{r}} \left[\left(\frac{([2]_q + q) | {}^b D_q \phi(b) |^s + | {}^b D_q \phi(a) |^s}{[2]_q} \right)^{\frac{1}{s}} \right. \\ & \quad \left. + \left(\frac{([2]_q + q) | {}_a D_q \phi(a) |^s + | {}_a D_q \phi(a) |^s}{[2]_q} \right)^{\frac{1}{s}} \right], \end{aligned}$$

which is proved by Ali et al. in [2].

Theorem 8. We assume that the conditions Lemma 2 hold. If the functions $|{}_a D_q \phi|^s$ and $|{}^b D_q \phi|^s$, $s \geq 1$ are convex, then the following inequality holds:

$$\begin{aligned} & \left| \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b + (1-\lambda)a} \phi(t) {}_a d_q t + \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t \right) \right. \\ & \quad \left. - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2} \right| \\ & \leq \frac{\lambda q(b-a)}{2[2]_q} \left[\left(\frac{([3]_q - \lambda[2]_q) | {}^b D_q \phi(b) |^s + \lambda[2]_q | {}^b D_q \phi(a) |^s}{[3]_q} \right)^{\frac{1}{s}} \right. \\ & \quad \left. + \left(\frac{([3]_q - \lambda[2]_q) | {}_a D_q \phi(a) |^s + \lambda[2]_q | {}_a D_q \phi(a) |^s}{[3]_q} \right)^{\frac{1}{s}} \right]. \end{aligned}$$

Proof. By using the power mean inequality in (4.3), we have

$$\begin{aligned} & \left| \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b + (1-\lambda)a} \phi(t) {}_a d_q t + \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t \right) \right. \\ & \quad \left. - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2} \right| \\ & \leq \frac{\lambda(b-a)}{2} \left[\left(\int_0^1 q t d_q t \right)^{1-\frac{1}{s}} \left(\int_0^1 q t | {}^b D_q \phi((1-\lambda)t b + \lambda t a) |^s d_q t \right)^{\frac{1}{s}} \right. \\ & \quad \left. + \left(\int_0^1 q t d_q t \right)^{1-\frac{1}{s}} \left(\int_0^1 q t | {}_a D_q \phi((1-\lambda)t a + \lambda t b) |^s d_q t \right)^{\frac{1}{s}} \right]. \end{aligned}$$

By using the convexity of the functions $|{}_a D_q \phi|^s$ and $|{}^b D_q \phi|^s$, we have

$$\begin{aligned} & \left| \frac{1}{2\lambda(b-a)} \left(\int_a^{\lambda b + (1-\lambda)a} \phi(t) {}_a d_q t + \int_{\lambda a + (1-\lambda)b}^b \phi(t) {}^b d_q t \right) \right. \\ & \quad \left. - \frac{\phi(\lambda b + (1-\lambda)a) + \phi(\lambda a + (1-\lambda)b)}{2} \right| \\ & \leq \frac{\lambda(b-a)}{2} \left(\int_0^1 q t d_q t \right)^{1-\frac{1}{s}} \left[\left(\int_0^1 q t [(1-\lambda)t | {}^b D_q \phi(b) |^s + \lambda t | {}^b D_q \phi(a) |^s] d_q t \right)^{\frac{1}{s}} \right. \\ & \quad \left. + \left(\int_0^1 q t [(1-\lambda)t | {}_a D_q \phi(a) |^s + \lambda t | {}_a D_q \phi(a) |^s] d_q t \right)^{\frac{1}{s}} \right] \end{aligned}$$

$$\begin{aligned}
&= \frac{\lambda(b-a)}{2} \left(\frac{q}{[2]_q} \right)^{1-\frac{1}{s}} \left[\left(\left(\frac{q}{[2]_q} - \frac{q\lambda}{[3]_q} \right) | {}^b D_q \phi(b) |^s + \frac{q\lambda}{[3]_q} | {}^b D_q \phi(a) |^s \right)^{\frac{1}{s}} \right. \\
&\quad \left. + \left(\left(\frac{q}{[2]_q} - \frac{q\lambda}{[3]_q} \right) | {}^a D_q \phi(a) |^s + \frac{q\lambda}{[3]_q} | {}^a D_q \phi(a) |^s \right)^{\frac{1}{s}} \right].
\end{aligned}$$

Thus, the proof is completed. \square

Remark 7. If we assign $\lambda = 1$ in Theorem 8, then we have the following trapezoid type inequality

$$\begin{aligned}
&\left| \frac{1}{2(b-a)} \left(\int_a^b \phi(t) {}^a d_q t + \int_a^b \phi(t) {}^b d_q t \right) - \frac{\phi(a) + \phi(b)}{2} \right| \\
&\leq \frac{q(b-a)}{2[2]_q} \left[\left(\frac{q^2 | {}^b D_q \phi(b) |^s + [2]_q | {}^b D_q \phi(a) |^s}{[3]_q} \right)^{\frac{1}{s}} \right. \\
&\quad \left. + \left(\frac{q^2 | {}^a D_q \phi(a) |^s + [2]_q | {}^a D_q \phi(a) |^s}{[3]_q} \right)^{\frac{1}{s}} \right].
\end{aligned}$$

Remark 8. If we assign $\lambda = \frac{1}{2}$ in Theorem 8, then we have the following Midpoint type inequality

$$\begin{aligned}
&\left| \frac{1}{b-a} \left(\int_a^{\frac{a+b}{2}} \phi(t) {}^a d_q t + \int_{\frac{a+b}{2}}^b \phi(t) {}^b d_q t \right) - \phi\left(\frac{a+b}{2}\right) \right| \\
&\leq \frac{q(b-a)}{4[2]_q} \left[\left(\frac{([3]_q + q^2) | {}^b D_q \phi(b) |^s + [2]_q | {}^b D_q \phi(a) |^s}{2[3]_q} \right)^{\frac{1}{s}} \right. \\
&\quad \left. + \left(\frac{([3]_q + q^2) | {}^a D_q \phi(a) |^s + [2]_q | {}^a D_q \phi(a) |^s}{[3]_q} \right)^{\frac{1}{s}} \right],
\end{aligned}$$

which is proved by Ali et al. in [2].

5. CONCLUSION

In this research, we prove generalized quantum estimations for q -Hermite-Hadamard inequality for convex functions involving two kinds of quantum integrals. Special cases of our results obtained yield all previous works. It is an interesting and new problem that the upcoming researchers may use the techniques of this research and prove q -fractional inequalities and similar inequalities or similar our results can be obtained for different kinds of convexities.

Availability of data and material

Data sharing not applicable to this paper as no data sets were generated or analysed during the current study.

Competing Interests

The authors declare that they have no competing interests.

Funding

There is no funding.

Author contributions

All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Acknowledgments

The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

REFERENCES

- [1] R. Agarwal, *A propos d'une note de m. pierre humbert*, Comptes rendus de l'Academie des Sciences, vol. 236, no. 21, pp. 2031–2032, 1953.
- [2] M. A. Ali, H. Budak, M. Feckan and S. Khan, *A new version of q -Hermite-Hadamard's midpoint and trapezoid type inequalities for convex functions*, Mathematica Slovaca, 2022, in press.
- [3] W. Al-Salam, *Some fractional q -integrals and q -derivatives*, Proceedings of the Edinburgh Mathematical Society, vol. 15, no. 2, pp. 135–140, 1966/1967.
- [4] N. Alp, M. Z. Sarikaya, M. Kunt and I. Iscan, *q -Hermite Hadamard inequalities and quantum estimates for midpoint type inequalities via convex and quasi-convex functions*, Journal of King Saud University–Science (2018) 30, 193–203.
- [5] N. Alp, Wirtinger type q -integral inequalities On q -Calculus, Math. Meth. Appl. Sci., 2021;1–12.
- [6] S. Bermudo, P. Kórus and J. N. Valdés, *On q -Hermite–Hadamard inequalities for general convex functions*, Acta Mathematica Hungarica, 162, 2020, 364–374.
- [7] H. Budak, M. A. Ali, and M. Tarhanaci, *Some New Quantum Hermite–Hadamard-Like Inequalities for Coordinated Convex Functions*, J Optim Theory Appl 186, 899–910 (2020). <https://doi.org/10.1007/s10957-020-01726-6>.
- [8] H. Budak, S. Erden, and M. A. Ali, *Simpson and Newton type inequalities for convex functions via newly defined quantum integrals*, Mathematical Methods in the Applied Sciences, <https://doi.org/10.1002/mma.6742>.
- [9] T. Ernst, *The history of q -calculus and new method*. Sweden: Department of Mathematics, Uppsala University, 2000.
- [10] H. Gauchman, *Integral inequalities in q -calculus*, Comput. Math. Appl. 47 (2004) 281-300.
- [11] F. H. Jackson, *On a q -definite integrals*, Quarterly J. Pure Appl. Math. 41 (1910) 193-203.
- [12] V. Kac and P. Cheung *Quantum calculus*, Springer (2001).
- [13] M. A. Noor, K. I. Noor, and M. U. Awan, *Some quantum integral inequalities via preinvex functions*, Applied Mathematics and Computation, 269, 2015, 242-251.
- [14] M. A. Noor, K. I. Noor, and M. U. Awan, *Some quantum estimates for Hermite–Hadamard inequalities*, Applied Mathematics and Computation, 251, 2015, 675-679.
- [15] P. M. Rajkovic, M. S. Stankovic, and S. D. Marinkovic, *The zeros of polynomials orthogonal with respect to q -integral on several intervals in the complex plane*, Proceedings of The Fifth International Conference on Geometry, Integrability and Quantization, pp. 178–188, 2003.
- [16] T. Sitthiwirattam, M. A. Ali, A. Ali and H. Budak, *A new q -Hermite-Hadamard's inequality and estimates for midpoint type inequalities for convex functions*, Miskolc Mathematical Notes, 2022, in press.
- [17] J. Tariboon, S. K. Ntouyas, *Quantum calculus on finite intervals and applications to impulsive difference equations*, Adv. Difference Equ. 282 (2013) 1-19.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE AND ARTS, DÜZCE UNIVERSITY, DÜZCE-TURKEY
E-mail address: placenn@gmail.com

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE AND ARTS, DÜZCE UNIVERSITY, DÜZCE-TURKEY
E-mail address: hsyn.budak@gmail.com

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE AND ARTS, DÜZCE UNIVERSITY, DÜZCE-TURKEY
E-mail address: sarikayamz@gmail.com

JIANGSU KEY LABORATORY FOR NSLSCS, SCHOOL OF MATHEMATICAL SCIENCES, NANJING NORMAL UNIVERSITY,
 NANJING, 210023, CHINA.
E-mail address: mahr.muhammad.aamir@gmail.com